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SA B S(AH) - ARA - BES 0f o Sl RS2
01 2= 46,491 46,211 280
Ouag A2 R+ (20A124)
3 & 46,491,000 46,491 46,211 280
03 RINAL=22XE > 121,769 115,502 6,267
OF A2l 30,835 28,049 2,786
=28 dF 41,7008 = 18 » 365¢ 15,221 9,816 5,405
=g 3 & 15,220,500 * 1/3 5,074 3,272 1,802
Al 2R g
48 7,8198 « 18 » 20AI2t ~ 123 1,877 1,796 81
=59 38 02 0 4,749 AN4,749
-=2228  FF 62,5503 x 1 « 12¢ 751 719 32
-Hxe-g d3d 50,4013 « 18 = 26¢ 1,261 1,213 48
-2 50t 3
3 & 15,220,5008 = 198 = 14/100 2,131 1,964 167
OgZz0lsA 120 87,453 A87,333
-2y (2d) 38 02 0 87,333 A87,333
O=&0la&(2g) 90,814 0 90,814
== 2,736,740 * 128 32,841 0 32,841
G 21,323 0 21,323
Il Eae 3,876,740 = 42| = 50% 7,754 0 7,754
g2+ 3,876,740 = 23| * 50% 3,877 0 3,877
M= eaE 3,876,740% = 53| * 50% 9,692 0 9,692
-gAg 4,800 0 4,800
- IbEE 960 0 960
B < Xt 40,000& = 2% * 12& 960 0 960
Sxge=g 90,0008 = 2& » 12& 2,160 0 2,160
Ggdd+=g 70,0002 = 2% * 12 1,680 0 1,680
-scl=dl 14,493 0 14,493
A S A 160,000& = 2& » 123 3,840 0 3,840
- JHAI 2 24 110,000& * 2% « 123 2,640 0 2,640
nS &2 sl 140,000 ~ 2& » 12& 3,360 0 3,360
- BE SO 3,876,740% * 22| » 60% 4,653 0 4,653
-E2fg 14,957 0 14,957
Al2E2l 2 R =5 (20A12F)
570,770& * 12& 6,850 0 6,850
522222 (12) 228,308 * 12& 2,740 0 2,740
Axsasitsg 5,367 0 5,367
-J| &t 2,400 0 2,400
=R 50,0008 = 2& » 12& 1,200 0 1,200
Al 50,000& = 2% * 12& 1,200 0 1,200
[=2ZH(UAS) 93,186 80,820 12,366
2zl (Uas) 93,186 80,820 12,366




2M S
M HH2IZH (UMS)
el J23H(naS) (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
201 Lt 33,956 32,190 1,766
01 AFR 22l 26,746 25,480 1,266
OJl2+8Hl 23 11,286,000 11,286 10,260 1,026
OJle sl 2 & 2,640,000 2,640 2,400 240
02 =224l 7,210 6,710 500
OfER= Z 3 5,170,000& 5,170 4,670 500
202 4l 45,600 36,000 9,600
02 FHOHI 45,600 36,000 9,600
O Mo Z & 150,000& » 20 » 2& 6,000 36,000 A 30,000
O HOHI 180,000& * 229 » 10 39,600 0 39,600
405 TtobH S 2,950 1,950 1,000
01 AL ESFH SH 2,950 1,950 1,000
Od&D 2 1,000 0 1,000




E 0 & AFHE®E B M A

SN 2
I B I (RBY)

Sl olzieg(2EY) (e9: & 9)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
220 576,334 564,646 11,688
HH2AAH (LS2H) 184,803 173,115 11,688
olei2 | (22 ) 115,674 110,319 5,355

oAl (22 D) 115,674 110,319 5,355
101 2124Hl 115,674 110,319 5,355
TIEES 29,729 27,926 1,803

OSB! A2ALA224E(20A12)
2 29,729,000 29,729 27,926 1,803
03 RIHA22RE 85,945 82,393 3,552
O#0/52 120 82,393 ~82,273
-ol= el (oY) 23 o9 0 82,273 ~82,273
OA0I5 2 (2%) 85,825 0 85,825
-lea 2,534,508 * 128 30,415 0 30,415
41013 19,330 0 19,330
ol sy 3,674,508 * 43| * 50% 7,350 0 7,350
Ba4g 2,792,9308 * 28| * 50% 2,793 0 2,793
MRl 3,674,5208 * 58 * 50% 9,187 0 9,187
-Housg 5,760 0 5,760
IESY 1,920 0 1,920
B < Xt 40,0002 » 2% + 128 960 0 960
Ol 20,0008 * 4% + 122 960 0 960
Saeag 90,0002 x 2% « 128 2,160 0 2,160
ZoiFag 70,0008 x 2% x 128 1,680 0 1,680
-2 = M) 14,250 0 14,250
I o Z Al 160,0008 * 28 » 128 3,840 0 3,840
- b 2 | 10,0008 * 28 » 128 2,640 0 2,640
k=Bt 140,0008 * 28 » 128 3,360 0 3,360
CYEEI 3,674,528 * 23| * 60% 4,410 0 4,410
-EN2R4Y 13,670 0 13,670
NEEELES= 541,690% * 128 6,501 0 6,501
U224y 216,676% + 128 2,601 0 2,601
ANRIEI}NY 4,568 0 4,568
-l 2,400 0 2,400
sy 50,0002 * 2% + 12 1,200 0 1,200
Sluag 50,0002 » 22 + 128 1,200 0 1,200
2z (2Es) 69, 129 62,796 6,333

2z (zee) 69,129 62,796 6,333
201 L2 | 24,825 24,192 633
01 AR 22|t 21,682 21,049 633

Odlg 4| 3% 7,182,0008 7,182 6,669 513




SM: e
Y HE2AAY(LSH)
ohel: J2ddl(Z2H) (chel & 9l)
2A-F3H-H2A(3) - MY - BES Of] Ak I & Hl w&z2
OJleagtl 23 1,680,000& 1,680 1,560 120
202 04 HI 29,100 23,400 5,700
02 & A0yl 29,100 23,400 5,700
O J0:N=] 238 150,000& * 138 = 2& 3,900 23,400 A 19,500
O NN 180,000& = 14% = 10& 25,200 0 25,200




E 0 & AFHE®E B M A

2014UE X 13 AWSIH WS - 2HO
SN Foto
BH: SR (HND)
olet2 bl (Roig) )
SN HB S (3H) - NPAY - BAES 0 &t w/E-F 2
565,825 560,212 5,613
2IFH(2HH) 181,064 175,451 5,613
A2 (HHYH) 113,528 112,115 1,413
elAH(HHH) 113,528 112,115 1,413
101 @124l 113,528 112,115 1,413
01 2=+ 29,510 27,802 1,708
OB Al 224 (20A2H)
Z & 29,510,000 29,510 27,802 1,708
03 RIAHA2Z 2 HE > 84,018 84,313 A 295
Oo&z0ls& 120 84,313 A 84,193
-ole(2y) 23 0¥ 0 84,193 A 84,193
OsZ0Is&(2Y) 83,898 0 83,898
-Jl=s 2,404,720& * 12& 28,857 0 28,857
-0 19,314 0 19,314
R e = 3,544,720& * 43| * 50% 7,090 0 7,090
d2+g 3,361,457& = 23| » 50% 3,362 0 3,362
e 3,544,720& * 53| * 50% 8,862 0 8,862
3N 5,280 0 5,280
- EE 1,440 0 1,440
HH < Xt 40,000% = 1% » 128 480 0 480
JIEt 20,000& = 4" « 128 960 0 960
SR 90,000& = 2% x 123 2,160 0 2,160
AT 70,0003 = 2% ~ 123 1,680 0 1,680
-SclE24] 14,094 0 14,094
A g A 160,000& » 2H » 12& 3,840 0 3,840
- A = 110,000& * 29 » 123 2,640 0 2,640
ns22d| 140,000& » 2H » 128 3,360 0 3,360
- SE IO 3,544, 720& * 23| » 60% 4,254 0 4,254
U2 RE 12,777 0 12,777
ANzt 2R+ 523,024& » 128 6,277 0 6,277
sLd22E 209,210& ~ 123 2,511 0 2,511
Airssit=E 3,989 0 3,989
-JIEt 1,176 0 1,176
HHSHIE X+ 1,176 0 1,176
DS D12 W)
294,000 = 1¥ = 42 7| 1,176 0 1,176
g+ 50,000& = 28 = 12& 1,200 0 1,200
-l 50,000& = 2% » 123 1,200 0 1,200
=2Z3H(¥Hd) 67,536 63,336 4,200
Jl2d8H(#2dH) 67,536 63,336 4,200
202 044l 29,400 25,200 4,200




M Fele
M HH2HAY (FeR)
£Hol: Il = Al (et p) EERED
SH BB S(SH) - MPAY - B2 O 4t o4 Il = e HRS2
02 FHOHI 29,400 25,200 4,200
O HoHI 2 & 150,0008 = 14 = 2& 4,200 25,200 A 21,000
O HoHI 180,000& * 149 » 10 25,200 0 25,200




E 0 & AFHE®E B M A

2N HES
M =0l OE NUIA HB(AED)
o9l: EEHO HEMN 29 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
o = e 730,314 708,688 21,626
=0l OIS NHIA MB(HEH) 175,670 168,970 6,700
SSXH0 EN 29 175,670 168,970 6,700
= SNMEEE(HEY) 4,000 3,500 500
201 L2yl 4,000 3,500 500
01 Ak 22l 4,000 3,500 500
Os-sug 28 A 4,000,0002 4,000 3,500 500
DAL U ZHIRA e (ASH) 73,624 67,424 6,200
201 L2yl 67,500 64,500 3,000
02 22| 67,500 64,500 3,000
O KXY 18,500 15,500 3,000
-s4ste A 14,000,0008 + 1CH 14,000 11,000 3,000
405 XHHE S HI 3,200 0 3,200
01 AU 2B St 3,200 0 3,200
Oslols WAL | 3,200 0 3,200
BHSAAH (AEN) 224,644 209,718 14,926
o2l (I E0) 157,109 144,983 12,126
oI (1 Z o) 157,109 144,983 12,126
101 1218 157,109 144,983 12,126
TIEES 29,543 28,929 614
OPIZEP Al2HQ 224 (20A12H)
AH 29,543,0009 29,543 28,929 614
03 RIHA2ZR 24 127,566 116,054 11,512
OBAX 28 33,269 30,292 2,977
Il =3 A 44,3008 * 1Y « 3652 16,170 10,406 5,764
Dl s 2% 16,169,508 * 1/3 5,390 3,469 1,921
B ELES=
2% 8,306% * 17 * 20AI2 * 128 1,994 1,904 9
-FELS(RBEY) 23 02 0 5,034 A5,034
~EU2RLY AT 66,4502 * 1Y + 12 798 762 36
R A AW 53,1338 * 1Y + 192 1,010 970 40
—28tM3
238 16,169,500& * 1 = 10/100 1,617 1,457 160
SEENET 120 85,762 85,642
-0l el (29) 23 0 0 85,642 785,642
OBH0I52 (2%) 94,177 0 94,177
Sl 2,815,3908 * 128 33,785 0 33,785
S E 21,143 0 21,143
ol s 3,955,3908 * 43 * 50% 7,911 0 7,911
Ha4g 3,342,1758 * 23 * 50% 3,343 0 3,343
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2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Hns2
REEEEI 3,955,300 * 53l * 50% 9,889 0 9,889
-H o g 5,760 0 5,760
StESY 1,920 0 1,920
HH < Xt 40,0008 * 2% = 128 960 0 960
Ol Ef 20,0008 * 4% » 122 960 0 960
S49e4g 90,0008 * 2F x 122 2,160 0 2,160
HAFALY 70,0008 * 2F * 122 1,680 0 1,680
R 14,587 0 14,587
ol G ALt 160,0008 * 2% * 128 3,840 0 3,840
HH 2 E 4| 10,0008 * 2% * 12 2,640 0 2,640
nEBEH| 140,0008 * 2% * 122 3,360 0 3,360
o X F 0| 3,955,3002! * 23l * 60% 4,747 0 4,747
~ED2R4Y 15,375 0 15,375
AN2te 2@ ag 582,0802 = 1289 6.985 0 6.985
suzasy 232,839 * 129 2,794 0 2,79
ARSI EIY 5,59 0 5,59
-JI e 3,527 0 3,527
PEETHEE =" 1,127 0 1,127

DS (23X)

281,7008 * 19 « 4% D) 1,127 0 1,127
CRIELY 50,0008 * 2% * 122 1,200 0 1,200
Pl Mg 50,0008 * 2% = 128 1,200 0 1,200
|2l (2 2) 67,535 64,735 2,800
2R () 67,535 64,735 2,800
202 01t 27,600 25,200 2,400
02 22401 | 27,600 25,200 2,400
O8 %01t 2H 150,008 * 14g * 2% 4,200 25,200 ~21,000
O” %01t 180,000% * 13% « 0% 23,400 0 23,400
405 XtorF S| 5,100 4,700 400
01 Mtarg 225 S 5,100 4,700 400
2ot 400,0002 + 1CH 400 0 400




N & 0l & Av S Z M A
20149 =3 1 3 LESH sg ~ =2FH
S BaE
FM: =0 OE MHA MS(ELEH)

ool 5ENQ HHM 29 EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
24¢ 711,330 697,170 14,160
=0 2hE MHIA HMES(E2HH) 163,585 163,085 500

=880 F4HH 29 163,585 163,085 500
= SNMNESEE(EHY) 4,000 3,500 500
201 LEt2A | 4,000 3,500 500

01 AtR 22l | 4,000 3,500 500

Os - S¢tts g2 Z& 4,000,000 4,000 3,500 500

HY2FZH (BELHH) 177,745 164,085 13,660

ol RIH(E2HY) 113,016 106,489 6,527

oAb (L) 113,016 106,489 6,527

101 @124l 113,016 106,489 6,527

01 2= 29,913 27,622 2,291
OZHH AZA2 2 (20A12H)

2 & 29,913,000 29,913 27,622 2,291

03 RIAHAAN2Z2NHE =+ 83,103 78,867 4,236

Oo&z0ls& 120 78,867 NT8,747

oI (2Y) 23 0¥ 0 78,747 NT8,747

OsZ0IsH&(2Y) 82,983 0 82,983

-Jl23 2,399,490& = 12& 28,794 0 28,794

-&0= 17,876 0 17,876

R = 3,539,490& * 43|  50% 7,079 0 7,079

d2+g 1,947,376& » 23| » 50% 1,948 0 1,948

e 3,539,490& = 53 » 50% 8,849 0 8,849

3N 7,080 0 7,080

- ESE 3,240 0 3,240

bH < Xt 40,0008 = 18 = 12& 480 0 480

AUTH KA 150,000& * 1 » 128 1,800 0 1,800

JIEt 20,000% = 4% » 128 960 0 960

SR+ 90,000& = 2% = 123 2,160 0 2,160

Se¥AE 70,000& = 2H = 12& 1,680 0 1,680

-Scl =44 14,088 0 14,088

A G A 160,000& * 29 » 123 3,840 0 3,840

JHAI 2 =4 110,000& » 2H » 12& 2,640 0 2,640

nE2 Il 140,000& * 29 » 123 3,360 0 3,360

P E = 3,539,490& = 23| » 60% 4,248 0 4,248

—EU2RE 12,745 0 12,745

A2 522,272 128 6,268 0 6,268

Se2RE 208,909& ~ 12& 2,507 0 2,507

HFes=Y 3,970 0 3,970

-J| Et 2,400 0 2,400




SN BLS
HH: HHSYAU(FLH)
Sl IS (HAS) CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
EEpE 50,0002 » 29 « 1o& 1,200 0 1,200
Mg 50,0008 * 2% * {22 1,200 0 1,200
B (REe) 64,729 57,596 7,133
A (2 ) 64,729 57,596 7,133
201 Lyt HH| 24,569 23,956 633
01 AL 22l bl 21,982 21,349 633
OJl= 48t AN 7,182,0002 7,182 6,669 513
BIEE=ET 2 1,680,000% 1,680 1,560 120
202 04t 29,400 23,400 6,000
02 2 % 0f 29,400 23,400 6,000
OB A0t AT 150,0008 * 14% » 2% 4,200 23,400 ~19,200
OB %01 Hl 180,0008 * 14% » 10% 25,200 0 25,200
405 Tt oHE St 1,500 1,000 500
01 AL ESH SHI 1,500 1,000 500
oA RS Y AKX 7Y
Z & 1,500,000& 1,500 1,000 500




= A
N = 0 &8 AFH Y & A AN
20149 & =& 1 3 e Uatgs ~ 2N
2AN: 289
M WHSARH (2FY)

Sel 2ol (22) (el &e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
22d 480,575 469,511 11,064
HMSHAH (22 M) 101,043 89,979 11,064

oldegy(2a™) 32,481 28,350 4,131
lAHI(2ZH) 32,481 28,350 4,131

101 @124 4] 32,481 28,350 4,131

01 24 32,481 28,350 4,131
O2ZH A2AZ22 4L (20A124)

A 32,481,000 32,481 28,350 4,131

ezt (2ad) 68,562 61,629 6,933

l2zd (22d) 68,562 61,629 6,933

201 L2 H 25,358 24,725 633

01 At 22l 22,315 21,682 633

OPIE=E==1.] A 7,695,000 7,695 7,182 513

OJl23 2| 23 1,800,000 1,800 1,680 120

202 O{H| 31,500 25,200 6,300

02 20 H 31,500 25,200 6,300

OE %0 2A 150,0002 * 158 » 2% 4,500 25,200 A20,700

O 2 %01 180,000 * 159 * 10¥ 27,000 0 27,000




= A
N = 0 &8 AFH Y & A AN
20149 & =& 1 3 e Uatgs ~ 2N
SN BEY
A F0 OIS MUIA NS (ZEH)

ool SEHQ HHS 29 (el @e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
HEH 1,594,529 1,565, 154 29,375
=0l OFE MHA HM2(HEIY) 467,749 461,949 5,800

S8H0 HIEH 29 467,749 461,949 5,800
s ENSEZE(HAEY) 5,000 4,000 1,000

201 2Bt 5,000 4,000 1,000

01 AF2 22| H 5,000 4,000 1,000

Os - S¢t2 8 23 5,000,000 5,000 4,000 1,000

22ANAE L HHKA2A(HEH) 220,061 215,261 4,800

401 AlEHIZ =20 40,070 38,470 1,600

01 Al&HI 40,070 38,470 1,600
O£S . CBOIAN HA B8 ML

800,0008 * 24l 1,600 0 1,600

405 KAk S 23,773 20,573 3,200

01 ML 2SEFSH 23,773 20,573 3,200

OFAM 394 gmaol 3,200 0 3,200

ZOIHOEA KAWL (HAH) 700,000 700,000 0

REYs NYNL(HAEH) 700,000 700,000 0

ARE FOI=AAA (HAEH) 700,000 700,000 0

401 AlEHIZ 2 700,000 700,000 0

01 Al&HI 700,000 700,000 0

OAZE Or2 et & (50m) 35 ok 0 10,000 A 10,000

Oat &4t 42 FHI 2 At 10,000 0 10,000

HM2HAH (HAH) 400,756 377,181 23,575

olASYY(HAD) 298,293 284,051 14,242

OIAH(HAH) 298,293 284,051 14,242

101 @124 4] 298,293 284,051 14,242

01 B4 48,196 46,908 1,288

OFFEH A24AZ 2L (20A124H)

AX 48,196,000 48,196 46,908 1,288

03 RIAHA22IES 250,097 237,143 12,954

OtH0|3 360 237,143 A 236,783

-oleel(6H) 35 o 0 236,783 N236,783

OsA0|3H2 (6%) 249,737 0 249,737

-e2 7,373,640 * 128 88,484 0 88,484

= 57,410 0 57,410

ST} 10,793,640 * 43| * 50% 21,588 0 21,588

HI24d 8,836,865 * 23| * 50% 8,837 0 8,837

M2 et 10,793,640 * 53| * 50% 26,985 0 26,985




SN EEE
HH: HHSYAU(HEH)
Sl oIS (HES) EERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
=EEE 14,160 0 14,160
ObESY 2,640 0 2,640
b < Xt 40,0008 * 3% * 128 1,440 0 1,440
0| Ef 20,0008 * 5% * 122 1,200 0 1,200
SR 90,000& = 6 = 12& 6,480 0 6,480
XYFALY  70,000% * 63 « 128 5,040 0 5,040
STIERVE] 42,473 0 42,473
Hoig Al 60,0002 * 6% + 122 11,520 0 11,520
IV EES 10,0002 * 6% * 122 7,920 0 7,920
nEES 140,0008 * 6% + 122 10,080 0 10,080
CHEEOMY 10,793,6408 * 23] * 60% 12,953 0 12,953
-ER2R4Y 39,410 0 39,410
NEEE RS 1,502,006% * 122 9,105 0 19,105
Fuaesy 636,802% * 122 7,642 0 7,642
MAHRBENTEY 2,663 0 12,663
~J1Ef 7,800 0 7,800
SR 50,0008 * 62 * 122 3,600 0 3,600
bR g 50,0008 * 19 * 122 600 0 600
EFEa 50,0008 * 62 * 122 3,600 0 3,600
|2 (Ee) 102,463 93,130 9,333
=P (HES) 102,463 93,130 9,333
201 et | 37,283 36,650 633
01 AtR 22l H] 28, 183 27,550 633
OJl= 48t A 11,799,0008 11,799 1,286 513
SBIEE=ET] A 2,760,000% 2,760 2,640 120
202 04t 48,300 39,600 8,700
02 2 01t 48,300 39,600 8,700
OB % 01 bl AH 150,008 * 238 * 2% 6,900 39,600 £32,700
OB %01 bl 180,0008 * 23% » 102 41,400 0 41,400




> A
N & 0l & Av S Z M A
P014EE = 13 YN NS ~ BHH
SN HorS
HE: 20 OF NUIA KHZ(Ho)
Sel: EEXQ HOM 29 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
& ot e 886,229 874,612 11,617
=0l OIS MUIA MB(Bord) 255,307 247,807 7,500
SSH0 Hop 29 255,307 247,807 7,500
= SMNESEZ(ForY) 4,500 4,000 500
201 et HH| 4,500 4,000 500
01 At 22l bl 4,500 4,000 500
Ok - sa2 28 HH 4,500,0002! 4,500 4,000 500
DAL U ZHIRK e (Hore) 85,844 78,844 7,000
401 A& HI LSO 28,900 21,900 7,000
01 Al 28,900 21,900 7,000
ORSUASAL B HSBLTA
7,000,008 * 14! 7,000 0 7,000
HHSYHY (Bord) 235,922 231,805 4,117
SEES-FI L= 161,857 162,840 £983
oIl (Ferer) 161,857 162,840 983
101 2121l 161,857 162,840 £983
TEES 36,792 35,861 931
OFoIH A2 R4S (20412}
2E 36,792,0002 36,792 35,861 931
03 RIHA2ZR 24 125,065 126,979 ~1,914
020 32 180 126,979 £126,799
-0l ol (39) 33 02 0 126,799 £126,799
O#Z 052 (3%) 124,885 0 124,885
Sl 3,614,308 * 122 43,372 0 43,372
-4012 28,218 0 28,218
ol s 5,324,308 * 43 * 50% 10,649 0 10,649
Ha4+y 4,257,8078 * 23] * 50% 4,258 0 4,258
Mee@yl  5,324,30080 * 53] * 50% 13,311 0 13,311
=-EE= 9,360 0 9,360
=LY 3,600 0 3,600
bH < Xt 40,0002 * 2% + 122 960 0 960
AT R 50,0002 * 2% * 122 1,200 0 1,200
oIt 20,0002 * 6% + 122 1,440 0 1,440
S4Y24g 90,0008 * 3% * 2% 3,240 0 3,240
meimeiagy 70,0008 + 3 + 128 2,520 0 2,520
=2l s 4| 21,150 0 21,150
Z ol g Al 160,000 * 3% 122 5,760 0 5,760
ISR 10,0008 * 3% » 128 3,960 0 3,960
DEEZY 140,0008 * 3% 128 5,040 0 5,040
CHEEI 5,324,308 * 23] * 60% 6,390 0 6,390




SN Eor
HE: HY2IFH (Hoe)
Sl Q2| (H o) (B9 ®R)
SN 3H - HA(FAH) - NRAIS - BES Ol &F o4 I E M Husz
Z02e4d 19, 185 0 9,185
NEEEEE 7855748 * 122 9,427 0 9,427
gu2esy 314,230% * 122 3,771 0 3,771
URRIRIEY 5,987 0 5,987
-J| Et 3,600 0 3,600
RN 50,0002 * 39 * 128 1,800 0 1,800
SRR 50,0008 * 3% * 122 1,800 0 1,800
=l (Zore) 74,065 68,965 5,100
Jl=FHl(Hors) 74,065 68,965 5,100
202 01t 35,700 30,600 5,100
02 2 % 0f 35,700 30,600 5,100
SEEI T A& 150,008 * 172 * 2% 5,100 30,600 25,500
O %0 bl 80,0008 * 178 * 102 30,600 0 30,600




A & 0l & AF 2 E A A
20149 =3 1 3 LESH sg ~ =2FH
M A2IH
FM: =0 OE MHA HMS(A2lH)

ool 28N Al2IE 2Y (el @ e)
SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" HlnE2
Atel s 599,585 585,084 14,501
=0l ot = NUlA K3 (A2lH) 182,484 181,352 1,132

sS850l AtelH 2g 182,484 181,352 1,132
= SMESEE(M2Y) 4,000 3,500 500

201 Let24dy] 4,000 3,500 500

01 At 2teltl 4,000 3,500 500

Os - S¢tts g2 Z& 4,000,000 4,000 3,500 500

HE2Y Y 2l (AtelH) 33,093 32,961 132

307 gl2tol & 1,452 1,320 132

05 B2t E = 1,452 1,320 132

OSeFHIAAE KX

Z& 121,000& * 12&8 1,452 1,320 132

S2AM4E & ZHIRX 2l (A2l ) 51,122 50,622 500

201 Let249] 35,080 34,580 500

02 =24l 35,080 34,580 500

O=X3sl& AdRAHl Z & 1,000,000& 1,000 500 500

FOHOZA XIML (A2l H) 310,000 310,000 0

ZEU= NGHL(A2IH) 310,000 310,000 0

A2 FUSIAAM(At2IH) 310,000 310,000 0

401 AIEHI L 20HEI 310,000 310,000 0

01 A& Hl 310,000 310,000 0

Odte =2 Z & (100m) 2E 0& 0 15,000 A 15,000

O&E ==Z I E(170m) 32E 03 0 30,000 230,000

Og= S22 =2 S AH(110m) Z & 0= 0 13,000 A 13,000

OUE ti==FHl 3 AH30m) 23 0¥ 0 5,000 25,000

O82ui==2 HHISA(150m) 25,000 0 25,000

O&tE =2 FHI 3 AH90m) 15,000 0 15,000

OdEU =2 HHISAH(100m) 15,000 0 15,000

O&Hel A & Bi=2 HHl 3 AH(30m) 8,000 0 8,000

HY2AZ Yl (A2l H) 107,101 93,732 13,369

ol 2 Al (Al H) 31,434 27,431 4,003

A HI(Atel ) 31,434 27,431 4,003

101 14 Hl 31,434 27,431 4,003

01 2= 31,434 27,431 4,003
OAtel® Al2H2I 2222 (20A12H)

2 & 31,434,000 31,434 27,431 4,003

|2l (At2l®) 75,667 66,301 9,366

Jl2Zdl(Atele) 75,667 66,301 9,366




2N
X ZH -
L= B

el

Ate| &

SR oA

23l (Atele)

Jl2ddl(Atel )

SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
201 Lt 25,027 23,761 1,266
01 AFR 22l 22,315 21,049 1,266

OJl2+8Hl Z 3 7,695,000 7,695 6,669 1,026
OJle sl Z& 1,800,000 1,800 1,560 240
202 04l 31,500 23,400 8,100
02 M0 31,500 23,400 8,100
O HOHI Z & 150,000& = 159 = 2& 4,500 23,400 218,900
O3 Mo 180,000& * 15¢& » 10& 27,000 0 27,000




>
N & 0l & Av S Z M A
2014 E = 18 LeralH NS ~ 2HE
SN Aap
M HHS Y (24
ol ol (A48) (el @ e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
Anp 472,417 466,036 6.381
BH2YAH (A4W) 96,210 89,829 6,381
ol 2ol (440) 29,037 27,756 1,281
oIl (AaB) 29,037 27,756 1,281
101 @124 29,037 27,756 1,281
01 2% 29,037 27,756 1,281
O2481 Al2tS 22 £ (20A12)
23 29,037,000 29,037 27,756 1,281
JI2 A (Aa8) 67,173 62,073 5,100
2Pl (AaBt) 67,173 62,073 5,100
202 01t 27,300 23,400 3,900
02 2% 04 Hl 27,300 23,400 3,900
O" %0l | 2H 150,0008 * 13% » 2@ 3,900 23,400 A 19,500
O” %04l 180,0002 * 132 « 10% 23,400 0 23,400
405 R4+ F S| 6,600 5,400 1,200
01 Mtare 22 5 S| 6,600 5,400 1,200
oz o 80,0008 * 1CH 800 0 800
O=Z A 400,000% * 1CH 400 0 400




= A
N = 0 &8 AFH Y & A AN
20149 & =& 1 3 e Uatgs ~ 2N
SN 250
A F0 OIS NUIA NS (EFH)

Cel: 58X 23U 29 (B2l &)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
23d¢ 680,314 668,411 11,903
=0l OIE MHIA HZ=(2EFH) 171,285 167,653 3,632

S8X® 23H 29 171,285 167,653 3,632
s ENESEE(EEY) 4,000 3,500 500
201 2Bt 4,000 3,500 500

01 AF2 22| H 4,000 3,500 500

Os - S¢t2 8 2 4,000,000 4,000 3,500 500

HM2N U R(2EFH) 33,813 33,681 132

307 Ql12+0| & 1,452 1,320 132

05 QIZteIEr2 1,452 1,320 132

ORAHIAAE KXY

2 121,0002 * 129 1,452 1,320 132

22ZANAE L FHHKRI22A(EFH) 38,803 35,803 3,000

401 AlEHIZ =20 3,000 0 3,000

01 Al&HI 3,000 0 3,000

OUA HWEEE 22|2HE AX 3,000 0 3,000

HNMSAAH (EXM) 179,029 170,758 8,271

oleedy(280) 113,341 111,703 1,638

IAHI(EHN) 113,341 111,703 1,638

101 @124 4] 113,341 111,703 1,638

01 82 29,510 30, 101 A 591
OS2 A2A2 2= (20A12)

A 29,510,000 29,510 30, 101 A 591

03 RINAL22IE L 83,831 81,602 2,229

O8Z0a e 120 81,602 A81,482

-l (2g) aF 0™ 0 81,482 A81,482

OsA0l3 (2H) 83,711 0 83,711

-Jle2 2,452, 7402 * 12¥ 29,433 0 29,433

= 18,687 0 18,687

ll=I A= 3,592,7409 * 43| * 50% 7,186 0 7,186

Ho4g 2,518,930% * 23| * 50% 2,519 0 2,519

- M e 3,592,7402 * 53| * 50% 8,982 0 8,982

—H oA 6,000 0 6,000

SlESY 2,160 0 2,160

b < Xt 40,0008 * 29 » 12¢ 960 0 960

Lo PIE 50,0008 * 2% « 129 1,200 0 1,200

SExURLc 90,0008 * 2% » 12¥ 2,160 0 2,160

ROy Kb 4 Ct 70,0008 * 29 » 129 1,680 0 1,680

-=22| & MH| 14,152 0 14,152




2N 2HS
HH: BHSYAU (BFH)
Sl IS (2HS) CERED
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
- Z A A 160,0008 » 2% » 122 3,840 0 3,840
1P eS| 10,0008 » 2% + 122 2,640 0 2,640
- DEBEY| 140,0008 * 2% + 122 3,360 0 3,360
CHEFO 3,592,740% * 23] * 60% 4,312 0 4,312
~ER2R4Y 13,039 0 13,039
NEEE e 520,929%! * 122 6,360 0 6,360
guaesy 211,9728 + 122 2,544 0 2,544
GUARIEINY 4,135 0 4,135
~J1 €t 2,400 0 2,400
A +g 50,0002 * 29 * 128 1,200 0 1,200
Mg 50,0008 * 2% * {22 1,200 0 1,200
l2ZH(E3) 65,688 59,055 6,633
A (2 ) 65,688 59,055 6,633
201 Yer2 | 25,932 25,299 633
01 AL 22l bl 21,838 21,205 633
OJlZ 48t A 7,182,0002 7,182 6,669 513
OJl=3 A 1,680,000% 1,680 1,560 120
202 01t 29,400 23,400 6,000
02 B 9 01 29,400 23,400 6,000
OB oIt AT 150,0008 * 14% * 2% 4,200 23,400 £19,200
OB %01t 180,0008 * 14% » 102 25,200 0 25,200




